Answer Guide
1.  Microsoft has been sued on the claim that Microsoft illegally monopolized the market for operating systems to run PCs.

A.  Microsoft claims that they do not have any monopoly power since only about 20 percent of computer calculations are performed under their operating system.  Would you consider this to be a valid “relevant” market share?
The “relevance” of the market share is its usefulness as a proxy for market power.  In calculating the market share, all close substitutes (at the competitive price) should be included in the denominator.  The crucial issue then is simply whether the type of consumers using PCs consider other types of computers such as main frames or servers to be close substitutes.  Clearly most users would not switch to a main frame or other large and expensive computer even if the price of the PC operating system was substantially above cost.  
B.  “Since the marginal cost of installing an operating system on an additional computer is near zero, any successful operating system vendor will be judged to have significant monopoly power.”  Do you agree?  
Yes.  Successful must mean ability to charge an above 0 price.  Market power simply means an ability to charge a price significantly above marginal cost.  Hence any successful operating system supplier will have market power.  Using the phrase “monopoly” to modify power suggests something is wrong with such power but that connotation is wrong.  There is nothing economically wrong with “monopoly power.”  
How would you define monopoly power for operating systems?
The same as for any other good -- the ability to charge a price above marginal cost.  

C.  Microsoft is also accused of generally withholding operating system information from developers and thereby favoring its internal app developers. Under what (if any) economic conditions would Microsoft have an incentive to raise the cost to third parties of writing DOS or Windows applications?  Discuss both efficiency and "market power" incentives.
The “obvious” ones to me would be:

Efficiency - protect the MS reputation.  If applications from other developers bomb on the MS OS, consumers or reviewers may incorrectly blame MS.  (I am skeptical of this since the best way MS can assure others’ apps run on Windows is to assist the developers.)

Market power - a.  protect proprietary information.  By releasing OS information to developers, MS may lower the cost of developers producing a compatible and competing OS;  b. collect buyers surplus.  If OS users that also use MS apps such as Word or Excel also have a higher value of the OS than those that use non-MS apps such as CADD programs, then MS can effectively charge more for the OS by “tying” in the MS apps.  Of course, this requires them to control the sales of such apps.
2.   A.   Explain the “Cellophane Fallacy.”
The cross elasticity of demand between potential substitutes will depend on the price at which the cross elasticity is measured.  A seller with market power will continue to raise price until significant sales are lost to other products; that is, the cross elasticity for some products will become high because of the high price resulting from the exercise of market power.  The “fallacy” arises from the measurement of cross elasticity or the degree of substitutability at the market price rather than at the competitive price. 

B.  Hybestosis Inc. has a patent on clutch pads used in the transmissions for heavy earth moving equipment.  They sell about 95% of clutch pads used in such equipment.  Hybetosis recommends the pads be replaced after 500 hours of use though the use can be extended to about 700 hours though the installation of stronger springs and tensioners.  Hybestosis has a deal with the transmission manufacturers under which failure to use the Hybestosis springs and tensioners voids the manufacturer warranty on the transmissions.

i.  Provide two alternative explanations for why do you think Hybestosis would effectively “require” the use of Hybestosis springs and tensioners?
What I think are the most likely:

1.  Control the variable proportions problem.  If Hybestosis is charging a price above marginal cost, the users will have an incentive to “inefficiently” extend the life to the clutch pads.  By also controlling the price of the springs and tensioners, Hybestosis can eliminate this incentive.

2.  Reputation - use of inappropriate springs and tensioners can lead to a poorly performing clutch.  Because of costly information, consumers may blame Hybestosis.

Also reasonable:

3.  Collect the surplus and/or price discriminate.  See MS above. 

ii.  How would the following relate to your explanations:  



a.  whether Hybestosis’s market share is 45% or 95%.
1. and 3. require market power and hence are less likely with a 45% market share.
b.  whether the Hybestosis springs and tensioners are priced competitively;
1. and 3. imply an above competitive price of the springs and tensioners.


c.  whether Hybestosis has been selling clutch pads for 1 year or 10 years.
Reputational problems are issues for a relatively new company.  If the clutch pads had been around for 10 years, customers would know of their quality and blame failures with non-approved springs and tensioners on the springs and tensioners.
